
March 19 - Analytic Geometry March 19, 2014

A

B C

D54 cm

36 cm

slope AB = -10
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March 19 - Analytic Geometry March 19, 2014

Proof Using Analytic Geometry

Do points A, B, and 
C form a right angle 
triangle?  And if so, 
at what point is the 
right angle?
A = (-2, 10)

B = (5, 5)

C = (0, -2)
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Try p.98, #16
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Before you go...

1. Find the slope and intercepts for the pair of points 

(4, 2) and (2, -4).  Find the equation in function form.

2. Rearrange the equation y = 5 x - 3  into general form 
and symmetric form. 2 2

3. The symmetric form of an equation is:

-4 x + 2 y = 1 Find the slopes and intercepts.
3 3


